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QUESTION 1

Which of the following illustrates an advantage of a global variable over a local variable? 

A. A global variable can pass data between two independent VIs running simultaneously 

B. Only the global variable can pass array data, local variables cannot 

C. Global variables follow the dataflow model, and therefore cannot cause race conditions 

D. Global variables do not require owned labels to operate 

Correct Answer: A 

 

QUESTION 2

Which of the following graphs matches the result in Comparison Values after the following code has executed? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 3

Which of the following allows you to plot any set of points, evenly distributed or not? 

A. Waveform Graph 

B. Waveform Chart 

C. XY Graph 

D. Both A. and C. 

Correct Answer: C 

 

QUESTION 4

What is the behavior of this VI when the code executes? 
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A. Loop 1 runs after Loop 2 stops 

B. Loop 1 and Loop 2 are deadlocked 

C. Loop 2 runs after Loop 1 stops 

D. Loop 1 and Loop 2 run simultaneously 

Correct Answer: D 

 

QUESTION 5

The following block diagram represents which common type of VI architecture? 
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A. Multiple Case Structure VI 

B. General VI 

C. State Machine VI 

D. Parallel Loop VI 

Correct Answer: C 
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